Unit 3 Lecture 1 Slide 28


The current slide shows the entities employee and department and the two relationships that exist between them. One of the relationships is called  "assigned to"; the other is called "responsible for"


To read this diagram let us use the conventions indicated in the previous slide.

Let us assume that we are standing on the entity department.  Therefore, to begin reading the diagram we start by saying "each department".  As we move toward the entity employee we read the optionality.  Since the line is a broken line, we say "may be" followed by the name of the relationship closest to the entity from which we are departing, which in this case is the department entity.

Recapitulating the reading of the portion of the diagram that we considered so far, we have said

Each department may be responsible for

As we arrive at the entity employee we read the degree, since there is a crowsfoot we have to say "one or more" followed by the name of the entity to which we arrive which in this case is the entity employee.  Therefore, at this stage of the reading we need to say "one or more employees"

Let's read the diagram again from department to employee.

"Each department may be responsible for one more employees"

Similarly, reading the diagram from employee to department we can say

"Each employee must be assigned to one and only one department"

 Notice that in this case we need to say "each employee must be assigned to" since the optionality is indicated by a continuous line. As we arrive at the department entity we need to say "one and only one" department since there is no crowsfoot.

Recapitulating the reading of the diagram from employee to department we have to say

"each employee must be assigned to one and only one department"

